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1. ROI—REIBGAHBS. COITPAIVEEBEI 7 1ILETRELCIVINTIL -
ESh E WA AN

V=TI 741 )LE : Examplel.java

class Examplel
{
public static void main(String[] str)
{
System.out.println("ooBS#BToo");
System.out.println(" K% : coooo");
System.out.println("Z%5&= : 0ooo0");
System.out.println("H5 : ooo");
System.out.println("#RER : coo");
System.out.println("#5§% : ooo");
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3. ROI—FZETBRAHBIEEN, COITPIIVEBEI 71 IVETRELTIVI/INAIL -

ETZE U0,

V=T 71 )L : Example3.java

class Example3

{
public static void main(String[] str)
{
System.out.println("mcm");
System.out.println("cmo");
System.out.println("mcm");
}
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class Example4d

{
public static void main(String[] str)
{
System.out.println(" [ERE] ");
System.out.println("6+1=");
System.out.println("4—7=");
System.out.println("2x5=");
System.out.println("9+3=");
}
}
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V=D 741 )8 . Example5.java
class Example5

{
public static void main(String[] str)
{
System.out.println("* P CANRv I %");
System.out.println("CPU : 3. 3GHzx63)’");
System.out.println("XE'J : 8GB");
System.out.println("HDD : 2TB");
¥
}
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